Stochastic Fractional Anderson Models with Fractional Noises***

Yiming JIANG* Kehua SHI** Yongjin WANG**

Abstract The authors are concerned with a class of one-dimensional stochastic Anderson models with double-parameter fractional noises, whose differential operators are fractional. A unique solution for the model in some appropriate Hilbert space is constructed. Moreover, the Lyapunov exponent of the solution is estimated, and its Hölder continuity is studied. On the other hand, the absolute continuity of the solution is also discussed.

 $\begin{array}{ll} \textbf{Keywords} & \textbf{Anderson models, Fractional noises, Lyapunov exponent, H\"{o}lder continuity,} \\ & \textbf{Absolute continuity} \end{array}$

2000 MR Subject Classification 34A34, 49N60

1 Introduction

In this article, we are concerned with the following stochastic fractional Anderson model with a fractional noise potential:

$$\begin{cases} \frac{\partial u}{\partial t} = \Delta_{\lambda} u + W^{H} \diamond u, & \text{in } [0, T] \times \mathbb{R}, \\ u(0) = u_{0}, \end{cases}$$
(1.1)

where $\Delta_{\lambda} = -(-\frac{1}{4\pi^2}\Delta)^{\frac{\lambda}{2}} = -(-\frac{1}{4\pi^2}\frac{\partial^2}{\partial x^2})^{\frac{\lambda}{2}}$ with $\lambda > 0$, $W^H(t,x) = \frac{\partial^2}{\partial t\partial x}B^H(t,x)$ with $H = (h_1,h_2) \in (\frac{1}{2},1) \times (\frac{1}{2},1)$ is the formal derivative of a double-parameter fractional field B^H (see Section 2), and " \diamond " denotes Skorokhod integral. The precise meaning of a solution of (1.1) will be stated in Section 2.

First, let us recall some related works on stochastic partial differential equations (SPDEs) as follows:

$$\frac{\partial u(t,x)}{\partial t} = Lu(t,x) + f(u(t,x)) + u(t,x)\dot{F}(t,x), \quad (t,x) \in \mathbb{R}_+ \times \mathbb{R}^d, \tag{1.2}$$

where $L = \frac{1}{2}\Delta$ or $L = -\Delta^2$, f is some specified function and \dot{F} denotes a white noise or a fractional noise on some probability space (Ω, \mathcal{F}, P) . In [25] Uemura treated the 1-dimensional heat equation with $\dot{F}(t,x) = \dot{w}(x)$, where $\dot{w}(x)$ is a space noise, and studied the Hölder continuity of the solution on the model, whereas, in the case of \dot{F} being a fractional noise, Nualart

Manuscript received June 25, 2008. Revised February 24, 2009. Published online June 8, 2009.

^{*}Corresponding author. School of Mathematical Sciences and LPMC, Nankai University, Tianjin 300071, China. E-mail: ymjiangnk@nankai.edu.cn

^{***}Projects supported by the National Natural Science Foundation of China (No. 10871103).

and Ouknine [19] discussed the existence and uniqueness of the solution under some restrictive conditions.

When the drift term f=0, equation (1.2) is called an Anderson model. Hu got the Lyapunov exponent estimates on the solutions of the equations with fractional noise potentials under appropriate assumptions on Hurst parameter $H=(h_0,h_1,\cdots,h_d)$ in [10]. Furthermore, for the (deterministic) Cahn-Hilliard equation, the case of $L=-\Delta^2$ was first proposed in material science. A stochastic version of the equation was developed by Cardon and Weber in [6], who proposed stochastic Cahn-Hilliard equations with space-time white noises with space dimensions $d \leq 3$. Bo and Wang [5] considered stochastic Cahn-Hilliard equations with Lévy space-time white noises, and they established the local mild solution of the equation. Moreover, Bo et al. [2, 4] proposed a fourth-order stochastic Anderson model and Cahn-Hilliard equation with fractional noises, and discussed the existence, uniqueness of the solution.

On the other hand, stochastic fractional partial differential equations have been widely developed. For example, in [1, 8], the authors proved the existence, uniqueness and regularity of the solution for a stochastic fractional Laplacian operator partial differential equation driven by a space-time white noise in one dimension. Moreover, there are some papers discussing the stochastic fractional differential operator heat equations with Lévy noises and fractional noises (see, e.g., [12]). In particular, the main results of Bo et al. [2] can be covered by this paper as the case of $\lambda = 4$.

Motivated by these works, we now suggest a new "Anderson model" with a fractional Laplacian operator, and the noise term is a fractional noise, i.e., equation (1.1). In this article, we shall establish the existence and uniqueness of the solution of (1.1) on some Hilbert space. Then we estimate the Lyapunov exponent of the solution by a continuous embedding theorem and some estimates of the Green function. Moreover, we will prove the Hölder continuity of the solution and give the Hölder continuous order of the solution of (1.1). Another objective of this paper is to discuss the absolute continuity of the solution through Malliavin calculus.

The rest of this paper is organized as follows. In the coming section, we will give the definitions of multiple stochastic integrals with respect to double-parameter fractional noises and define a solution of (1.1), as well as the introduction of the Malliavin calculus. The existence and Lyapunov exponent estimate of the solution will be considered in Section 3. Section 4 is devoted to studying the Hölder continuity of the solution of (1.1). We will discuss the absolute continuity of the solution in the last section.

2 Preliminaries

In this section, we will define a multiple stochastic integral with respect to a doubleparameter fractional noise (see also [2]), and then define a solution of (1.1) in S_{ρ} sense after proposing the Green function and inducting some properties. On the other hand, we will introduce the Malliavin calculus with respect to fractional noises.

2.1 Skorokhod integral

Definition 2.1 A double-parameter fractional Brownian field $B^H = \{B^H(t,x) : (t,x) \in$

 $[0,T] \times \mathbb{R}$ with Hurst parameter $H = (h_1, h_2)$ for $h_i \in (0,1)$ (i = 1,2) is a centered Gaussian field with covariance

$$\mathbf{E}[B^{H}(t,x)B^{H}(s,y)] = \frac{1}{4}[t^{2h_1} + s^{2h_1} - |t-s|^{2h_1}][|x|^{2h_2} + |y|^{2h_2} - |x-y|^{2h_2}]$$
(2.1)

for all $t, s \in [0, T]$ and $x, y \in \mathbb{R}$.

For $x, y \in \mathbb{R}$ and $h \in (0, 1)$, we denote

$$\varphi_h(x-y) := h(2h-1)|x-y|^{2h-2}$$

Let $n = 1, 2, \cdots$. Define \mathcal{H}_n by

$$\mathcal{H}_n := \Big\{ f : ([0,T] \times \mathbb{R})^n \to \mathbb{R}; \ f \text{ is measurable and} \\ \int_{[0,T]^{2n}} \int_{\mathbb{R}^{2n}} \prod_{i=1}^n \varphi_{h_1}(s_i - r_i) \varphi_{h_2}(x_i - y_i) f(s,x) f(r,y) \\ \times dx_1 \cdots dx_n dy_1 \cdots dy_n dr_1 \cdots dr_n ds_1 \cdots ds_n < \infty \Big\},$$

which is a Hilbert space, and the inner product of $f, g \in \mathcal{H}_n$ is defined by

$$\langle f, g \rangle_{\mathcal{H}_n} := \int_{[0,T]^{2n}} \int_{\mathbb{R}^{2n}} \prod_{i=1}^n \varphi_{h_1}(s_i - r_i) \varphi_{h_2}(x_i - y_i) f(s, x) g(r, y)$$

$$\times dx_1 \cdots dx_n dy_1 \cdots dy_n dr_1 \cdots dr_n ds_1 \cdots ds_n.$$
(2.2)

Then we have a sequence of Hilbert spaces $\{\mathcal{H}_n\}_{n\in\mathbb{N}}$.

First we briefly introduce the following stochastic integral as follows:

$$\left\{ \int_0^t \int_{\mathbb{R}} f(s, x) B^H(\mathrm{d}s, \mathrm{d}x); t \in [0, T] \right\}, \quad f \in \mathcal{H}_1.$$

For the stochastic integral, it is easy to check the following properties.

Proposition 2.1 For $f, g \in \mathcal{H}_1$, we have

$$\mathbf{E} \Big[\int_0^T \int_{\mathbb{R}} f(s, x) B^H(\mathrm{d}s, \mathrm{d}x) \Big] = 0,$$

$$\mathbf{E} \Big[\int_0^T \int_{\mathbb{R}} f(s, x) B^H(\mathrm{d}s, \mathrm{d}x) \int_0^T \int_{\mathbb{R}} g(s, x) B^H(\mathrm{d}s, \mathrm{d}x) \Big] = \langle f, g \rangle_{\mathcal{H}_1}.$$

Proof See [10]. We omit the details.

Next, we will introduce the multiple integral for fractional noises. Suppose that $\{e_i\}_{i\in\mathbb{N}}$ is an orthonormal basis of \mathcal{H}_1 . Define

$$\widetilde{\mathcal{H}}_n := \Big\{ f \in \mathcal{H}_n; \ f((s_1, u_1), \cdots, (s_n, u_n)) = f((s_{\sigma(1)}, u_{\sigma(1)}), \cdots, (s_{\sigma(n)}, u_{\sigma(n)})) \\$$
 for all permutations $\sigma = \{\sigma(1), \cdots, \sigma(n)\} \text{ of } \{1, 2, \cdots, n\} \Big\}.$

If $f \in \widetilde{\mathcal{H}}_n$, then we say that f is "symmetric". And define

$$C_n := \Big\{ f \in \widetilde{\mathcal{H}}_n; \ f = \sum_{\text{finite sum}} a_{i_1, \dots, i_n} e_{i_1} \otimes e_{i_2} \otimes \dots \otimes e_{i_n}, \ a_{i_1, \dots, i_n} \in \mathbb{R} \Big\},$$

where \otimes denotes the symmetric tensor product. Let $H_n(x)$ be the Hermite polynomial of degree $n \in \mathbb{N} \cup \{0\}$, i.e.,

$$H_n(x) = (-1)^n e^{\frac{x^2}{2}} \frac{d^n}{dx^n} [e^{-\frac{x^2}{2}}], \quad x \in \mathbb{R}.$$

For $e \in \mathcal{H}_1$ and $||e||_{\mathcal{H}_1} = 1$, define a multiple integral of Itô-type of the function $e^{\otimes n}$ by

$$\int_{[0,T]^n} \int_{\mathbb{R}^n} e^{\otimes n}(s_1, \dots, s_n, u_1, \dots, u_n) B^H(\mathrm{d}s_1, \mathrm{d}u_1) \dots B^H(\mathrm{d}s_n, \mathrm{d}u_n)
= H_n \Big(\int_{[0,T]} \int_{\mathbb{R}} e(r, z) B^H(\mathrm{d}r, \mathrm{d}z) \Big).$$
(2.3)

Then

$$I_n(e_{i_1} \otimes e_{i_2} \otimes \cdots \otimes e_{i_n})$$

$$= \int_{[0,T]^n} \int_{\mathbb{R}^n} e_{i_1} \otimes \cdots \otimes e_{i_n}(s_1, \cdots, s_n, u_1, \cdots, u_n) B^H(\mathrm{d}s_1, \mathrm{d}u_1) \cdots B^H(\mathrm{d}s_n, \mathrm{d}u_n)$$

by the polarization argument (see, e.g., [7, 10]).

For each $f \in \mathcal{C}_n$, we have

$$I_n(f) = \sum_{\text{finite sum}} a_{i_1,\dots,i_n} I_n(e_{i_1} \otimes \dots \otimes e_{i_n}). \tag{2.4}$$

Then the following isometry holds:

$$\mathbf{E}|I_n(f)|^2 = n! ||f||_{\mathcal{H}_n}^2. \tag{2.5}$$

Note that for $f \in \widetilde{\mathcal{H}}_n$ there exists a sequence $\{f_k\}_{k \in \mathbb{N}} \subset \mathcal{C}_n$ such that $f_k \to f$ in \mathcal{C}_n . It follows from (2.5) that $\{I_n(f_k)\}_{k \in \mathbb{N}}$ is a Cauchy sequence in $L^2(\Omega)$, and the limit point of $I_n(f_k)$ (as $k \to \infty$) is independent of the choice of $\{f_k\}_{k \in \mathbb{N}}$. We call the limit point the multiple integral of Itô-type and denote it by

$$I_n(f) := \int_{[0,T]^n} \int_{\mathbb{R}^n} f(s,x) B^H(\mathrm{d}s_1, \mathrm{d}x_1) \cdots B^H(\mathrm{d}s_n, \mathrm{d}x_n)$$
$$= \lim_{k \to \infty} I_n(f_k), \quad \text{in } L^2(\Omega) \text{ sense.}$$
(2.6)

It is easy to check that for $f, g \in \mathcal{H}_n$ there holds

$$\mathbf{E}[I_n(f)I_n(g)] = n!\langle f, g \rangle_{\mathcal{H}_n}. \tag{2.7}$$

Let $F = \bigoplus_{n=0}^{\infty} F_n$, where F_n is the *n*th chaos of F (see, e.g., [11]). For each $\rho \in \mathbb{R}$, we introduce a Hilbert space

$$S_{\rho} = \Big\{ F = \bigoplus_{n=0}^{\infty} F_n; \sum_{n=0}^{\infty} [n!]^{\rho} \mathbf{E} |F_n|^2 < \infty \Big\},$$

and define

$$||F||_{\rho} := \sqrt{\sum_{n=0}^{\infty} [n!]^{\rho} \mathbf{E} |F_n|^2}.$$

In particular, if $\rho = 0$, then $S_{\rho} = L^{2}(\Omega)$.

2.2 Definition of the solution

In order to define the solution of (1.1), we first introduce the fractional Laplacian Δ_{λ} with $\lambda > 0$ and the symmetric fractional derivative of order λ on \mathbb{R} . This is a non-local operator defined via the Fourier transform \mathcal{F} :

$$\mathcal{F}(\Delta_{\lambda} \upsilon)(x) = -|x|^{\lambda} \mathcal{F}(\upsilon)(x).$$

The Green function $G_{\lambda}(t,x)$ associated to equation (1.1) on $[0,T] \times \mathbb{R}$ is the fundamental solution of the Cauchy problem:

$$\begin{cases} \frac{\partial}{\partial t} G(t, x) = \Delta_{\lambda} G(t, x), & \text{in } [0, T] \times \mathbb{R}, \\ G(0, x) = \delta_0(x), \end{cases}$$
 (2.8)

105

where δ_0 is the Dirac distribution. Using Fourier transform, we see that $G_{\lambda}(t,x)$ is given by

$$G_{\lambda}(t,x) = \mathcal{F}^{-1}(e^{-t|\cdot|^{\lambda}})(x) = \int_{\mathbb{R}} e^{2i\pi x\xi} e^{-t|\xi|^{\lambda}} d\xi = \mathcal{F}(e^{-t|\cdot|^{\lambda}})(x).$$

The function $G_{\lambda}(t,x)$ has the following properties (see, e.g., [1, 8]), which will be used later on.

Lemma 2.1 For $\lambda \in (0,2]$, we have the following cases.

(1) For any $t \in (0, +\infty)$ and $x \in \mathbb{R}$, there hold

$$G_{\lambda}(t,x) > 0$$
 and $\int_{\mathbb{R}} G_{\lambda}(t,x) dx = 1.$

(2) $\frac{\partial^n G_{\lambda}}{\partial x^n}(t,x) = t^{-\frac{n+1}{\lambda}} \frac{\partial^n G_{\lambda}}{\partial y^n}(1,y)|_{y=t^{-\frac{1}{\lambda}}x}$ for all $n \geq 0$. In particular, when n=0, it is called the scaling property. That is

$$G_{\lambda}(t,x) = t^{-\frac{1}{\lambda}}G_{\lambda}(1,t^{-\frac{1}{\lambda}}x).$$

(3) G_{λ} is C^{∞} on $(0,\infty) \times \mathbb{R}$, and for $n \geq 0$, there exists a $C_n > 0$ such that for any $t \in \mathbb{R}_+$ and $x \in \mathbb{R}$,

$$\left| \frac{\partial^n G_{\lambda}}{\partial x^n}(t, x) \right| \le \frac{1}{t^{\frac{1+n}{\lambda}}} \frac{C_n}{1 + t^{-\frac{2}{\lambda}|x|^2}}.$$

(4) For any $(s,t) \in \mathbb{R}_+ \times \mathbb{R}_+$,

$$G_{\lambda}(s, \cdot) * G_{\lambda}(t, \cdot) = G_{\lambda}(s + t, \cdot).$$

(5) $\int_0^T dt \int_{\mathbb{R}} dx G_{\lambda}^{\alpha}(t,x) < \infty \text{ if and only if } \frac{1}{2} < \alpha < 1 + \lambda.$

Remark 2.1 Throughout the paper, we restrict $\lambda \in (1,2]$.

For $k \in \mathbb{N}$, set

$$f_k^{(\lambda)}(t, x; s_1, z_1, \cdots, s_k, z_k) := \int_{\mathbb{R}} G_{\lambda}(t - s_k, x - z_k) \cdots G_{\lambda}(s_2 - s_1, z_2 - z_1) G_{\lambda}(s_1, z_1 - y) u_0(y) dy$$

and

$$\widetilde{f}_{k}^{(\lambda)}(t, x; s_1, z_1, \cdots, s_k, z_k) = \text{Sym}[f_{k}^{(\lambda)}(t, x; s_1, z_1, \cdots, s_k, z_k)],$$

where "Sym" denotes the symmetrization with respect to k variables $(s_1, z_1), \dots, (s_k, z_k)$.

Now, we define a solution of (1.1) in S_{ρ} sense.

Definition 2.2 We say that a stochastic field $\{u(t,x): (t,x) \in [0,T] \times \mathbb{R}\}$ is a solution of (1.1) in S_{ρ} sense, if $u(t,x) = \lim_{n \to \infty} u_n(t,x)$ on S_{ρ} (i.e., $||u(t,x) - u_n(t,x)||_{\rho} \to 0$ for each $(t,x) \in [0,T] \times \mathbb{R}$), where

$$\begin{cases} u_0(t,x) = G_{\lambda}(t) * u_0(x), \\ u_n(t,x) = \sum_{k=0}^{n} I_k(\widetilde{f}_k^{(\lambda)})(t,x), & n = 1, 2, \dots, \end{cases}$$

and $I_k(\widetilde{f}_k^{(\lambda)})(t,x)$ is defined by (2.6), $I_0(\widetilde{f}_0^{(\lambda)})(t,x) = u_0(t,x)$.

The following lemma gives an embedding from $L^{\frac{1}{h}}$ to \mathcal{H}_1 (see [15]), which is useful for our derivations below.

Lemma 2.2 If $h \in (\frac{1}{2}, 1)$ and $f, g \in L^{\frac{1}{h}}([a, b])$, then

$$\int_{a}^{b} \int_{a}^{b} f(u)g(v)|u-v|^{2h-2} du dv \le C(h) \|f\|_{L^{\frac{1}{h}}([a,b])} \|g\|_{L^{\frac{1}{h}}([a,b])},$$

where C(h) > 0 is a constant depending only on h.

In fact, if $a = -\infty$ or $b = +\infty$, the above inequality also holds.

2.3 Malliavin calculus with respect to fractional noises

Note that $\{B^H(t,x): (t,x) \in [0,T] \times \mathbb{R}\}$ is Gaussian, so we will develop the Malliavin calculus for fractional noises (see, e.g., [22]).

Let $B^H(h) = \int_0^T \int_{\mathbb{R}} h(t,x) B^H(\mathrm{d}x,\mathrm{d}t)$ for $h \in \mathcal{H}_1$, and let Λ be the class of smooth and cylindrical random variables of the form

$$F = f(B^{H}(h_1), \dots, B^{H}(h_n)),$$
 (2.9)

where $f \in C_b^{\infty}(\mathbb{R}^n)$ (the set of all bounded C^{∞} functions with bounded derivatives of all orders) and $h_i \in \mathcal{H}_1$ ($i = 1, \dots, n$ and $n \in \mathbb{N}$). For each $F \in \Lambda$, define the derivative $D_{t,x}F$ by

$$D_{t,x}F := \sum_{i=1}^{n} \frac{\partial f}{\partial x_i}(B^H(h_1), \cdots, B^H(h_n))h_i(t, x).$$

Let $\mathcal{D}^{1,2}$ be the completion of Λ under the norm

$$||F||_{1,2}^2 = \mathbf{E}[F^2 + ||DF||_{\mathcal{H}_1}^2].$$

Then $\mathcal{D}^{1,2}$ is the domain of the closed operator D. For each $h \in \mathcal{H}_1$ and $F \in \Lambda$, define

$$D_h F := \lim_{\varepsilon \to 0} \frac{\mathrm{d}}{\mathrm{d}\varepsilon} f(B^H(h_1) + \varepsilon \langle h_1, h \rangle_{\mathcal{H}_1}, \cdots, B^H(h_n) + \varepsilon \langle h_n, h \rangle_{\mathcal{H}_1}),$$

which may be extended as a closed operator on $L^2(\Omega)$ (with the domain \mathcal{D}_h being the closure of Λ) under the norm

$$||F||_h^2 = \mathbf{E}[F^2 + |\mathcal{D}_h F|^2].$$

Let $\{h_n : n \geq 1\}$ be an orthonormal basis of \mathcal{H}_1 . Then $F \in \mathcal{D}^{1,2}$ if and only if $F \in \mathcal{D}_{h_n}$ for each $n \in \mathbb{N}$ and

$$\sum_{n=1}^{\infty} \mathbf{E} |\mathbf{D}_{h_n} F|^2 < \infty.$$

In this case,

$$D_h F = \langle DF, h \rangle_{\mathcal{H}_1}.$$

On the other hand, the divergence operator δ is the adjoint of the derivative operator D characterized by

$$\mathbf{E}[F\delta(u)] = \mathbf{E}\langle DF, u \rangle_{\mathcal{H}_1}$$
 for any $F \in \Lambda$,

where $u \in L^2(\Omega, \mathcal{H}_1)$. Then, we denote the domain of δ by Dom δ , which is the set of all functions $u \in L^2(\Omega, \mathcal{H}_1)$ such that

$$\mathbf{E}|\langle \mathrm{D}F, u \rangle_{\mathcal{H}_1}| \le C \|F\|_{L^2(\Omega)},$$

where C is some positive constant.

Proposition 2.2 Let $A \in \mathcal{F}$, and let F be a square integrable random variable that is measurable with respect to the σ -field \mathcal{F}_{A^c} . Then

$$DFI_A = 0$$
, a.s.

Remark 2.2 Let $\{u(t,x):(t,x)\in[0,T]\times\mathbb{R}\}$ be an $\{\mathcal{F}_t:t\in[0,T]\}$ -adapted random field. According to Proposition 2.2, $D_{s,y}u(t,x)=0$, a.s. for any $0\leq t< s\leq T$ and $x,y\in\mathbb{R}$.

Proposition 2.3 Let $F \in \mathcal{D}^{1,2}$. If $\|DF\|_{\mathcal{H}_1}^2 > 0$, a.s., then the law of the random variable F is absolutely continuous with respect to the Lebesgue measure.

Proof The proof is a standard argument like that in [23, Theorem 2.1.3].

3 Lyapunov Exponent Estimate of the Solution

In this section, we will establish the existence and uniqueness of the solution for (1.1) and then give a Lyapunov exponent estimate on the solution. We state the main theorem as follows.

Theorem 3.1 (Existence, Uniqueness and Lyapunov Exponent Estimate) Let $h_1, h_2 \in (\frac{1}{2}, 1)$, $\lambda(2h_1 - 1) + h_2 > 1$ and $p \in (\frac{1}{2h_1 - 1}, \frac{\lambda}{1 - h_2})$. If $u_0 \in L^{\infty}(\mathbb{R})$, then (1.1) has a unique solution $\{u(t, x) : (t, x) \in [0, T] \times \mathbb{R}\}$ on S_{ρ} (for each $\rho < \frac{(2-p)\lambda - 2(1-h_2)p}{p\lambda}$). Moreover,

$$\limsup_{t \to \infty} \log \left(\sup_{x \in \mathbb{R}} \|u(t, x)\|_{\rho}^{2} \right) t^{-\kappa} \leq \widetilde{C}(h_{1}, h_{2})$$

for $\kappa = \frac{(4h_1 + h_2 - 1)}{2} (\frac{4 - (3 - h_2)p}{2p} - \rho)^{-1}$, and $\widetilde{C}(h_1, h_2)$ is some positive constant.

In order to prove the theorem, we need the following technical lemmas.

Lemma 3.1 For each $k \in \mathbb{N}$, define

$$\Phi_k^{(\lambda)}(t, x, s, r) := \int_{\mathbb{R}^{2k}} \prod_{i=1}^k \varphi_{h_2}(u_i - v_i) |G_{\lambda}(t - s_k, x - u_k)| \cdots |G_{\lambda}(s_2 - s_1, u_2 - u_1)| \\
\times |G_{\lambda}(t - r_k, x - v_k)| \cdots |G_{\lambda}(r_2 - r_1, v_2 - v_1)| du_1 \cdots du_k dv_1 \cdots dv_k,$$

where $(t,x) \in [0,T] \times \mathbb{R}$, $s = (s_1, \dots, s_k)$ and $r = (r_1, \dots, r_k)$. Then there exists a positive constant $C(\lambda, h_2)$ depending on λ and h_2 such that

$$\Phi_k^{(\lambda)}(t, x, s, r) \le [C(\lambda, h_2)]^k \prod_{i=1}^k (s_{i+1} - s_i)^{\frac{h_2 - 1}{\lambda}} (r_{i+1} - r_i)^{\frac{h_2 - 1}{\lambda}}$$
(3.1)

with $s_{k+1} = r_{k+1} = t$.

Proof We first consider $\widetilde{\Phi}_1^{(\lambda)}(s_1, s_2, r_1, r_2, u_2, v_2)$ by

$$\widetilde{\Phi}_1^{(\lambda)}(s_1, s_2, r_1, r_2, u_2, v_2) := \int_{\mathbb{R}^2} \varphi_{h_2}(u_1 - v_1) |G_{\lambda}(s_2 - s_1, u_2 - u_1)| |G_{\lambda}(r_2 - r_1, v_2 - v_1)| du_1 dv_1.$$

By Lemma 2.2, we get

$$\widetilde{\Phi}_{1}^{(\lambda)}(s_{1}, s_{2}, r_{1}, r_{2}, u_{2}, v_{2}) \leq \text{const.} \|G_{\lambda}(s_{2} - s_{1}, u_{2} - \cdot)\|_{L^{\frac{1}{h_{2}}}(\mathbb{R})} \|G_{\lambda}(r_{2} - r_{1}, v_{2} - \cdot)\|_{L^{\frac{1}{h_{2}}}(\mathbb{R})},$$

where

$$\begin{aligned} \|G_{\lambda}(s_{2}-s_{1},u_{2}-\cdot)\|_{L^{\frac{1}{h}}(\mathbb{R})} &= \left(\int_{\mathbb{R}} |G_{\lambda}(s_{2}-s_{1},u_{2}-u_{1})|^{\frac{1}{h_{2}}} \mathrm{d}u_{1}\right)^{h_{2}} \\ &= \left(\int_{\mathbb{R}} (s_{2}-s_{1})^{-\frac{1}{\lambda h_{2}}} |G_{\lambda}(1,(s_{2}-s_{1})^{-\frac{1}{\lambda}}(u_{2}-u_{1}))|^{\frac{1}{h_{2}}} \mathrm{d}u_{1}\right)^{h_{2}} \\ &= \left(\int_{\mathbb{R}} (s_{2}-s_{1})^{\frac{1}{\lambda}-\frac{1}{\lambda h_{2}}} |G_{\lambda}(1,u_{1})|^{\frac{1}{h_{2}}} \mathrm{d}u_{1}\right)^{h_{2}} \\ &\leq (s_{2}-s_{1})^{h_{2}(\frac{1}{\lambda}-\frac{1}{\lambda h_{2}})} \int_{\mathbb{R}} \left(\frac{C}{1+|u_{1}|^{2}}\right)^{\frac{1}{h_{2}}} \mathrm{d}u_{1} \\ &\leq C(\lambda,h_{2})(s_{2}-s_{1})^{\frac{1}{\lambda}(h_{2}-1)}. \end{aligned}$$

So

$$\widetilde{\Phi}_{1}^{(\lambda)}(s_{1}, s_{2}, r_{1}, r_{2}, u_{2}, v_{2}) \le C(\lambda, h_{2})((s_{2} - s_{1})(r_{1} - r_{2}))^{\frac{1}{\lambda}(h_{2} - 1)}.$$

Since the estimate of $\widetilde{\Phi}_1(s_1, s_2, r_1, r_2, u_2, v_2)$ is independent of time parameter (u_2, v_2) , one can prove (3.1) similarly for the cases $k \geq 2$. Thus the proof of the lemma is completed.

Let us recall the definition of the symmetrical function. Note

$$\widetilde{f}_{k}^{(\lambda)}(t, x, (s_{1}, u_{1}), \cdots, (s_{n}, u_{n})) = \frac{1}{n!} \sum_{\sigma} f_{k}^{(\lambda)}(t, x, (s_{\sigma(1)}, u_{\sigma(1)}), \cdots, (s_{\sigma(n)}, u_{\sigma(n)})), \quad (3.2)$$

where the sum is taken over all permutations $\sigma = \{\sigma(1), \dots, \sigma(n)\}$ of $\{1, 2, \dots, n\}$. For each $k \in \mathbb{N} \cup \{0\}$ and $(t, x) \in [0, T] \times \mathbb{R}$, let

$$\Psi_k^{(\lambda)}(t,x) = \mathbf{E}|I_k(\widetilde{f}_k^{(\lambda)}(t,x))|^2. \tag{3.3}$$

Recall Definition 2.2. By (2.7) and (3.3), we have

$$\Psi_k^{(\lambda)}(t,x) = k! \|\widetilde{f}_k^{(\lambda)}(t,x)\|_{\mathcal{H}_n}^2 \le k! \|f_k^{(\lambda)}(t,x)\|_{\mathcal{H}_n}^2. \tag{3.4}$$

Lemma 3.2 If $h_1, h_2 \in (\frac{1}{2}, 1)$, $\lambda(2h_1 - 1) + h_2 > 1$ and $p \in (\frac{1}{2h_1 - 1}, \frac{\lambda}{1 - h_2})$, then there exists a positive constant $C(\lambda, h_1, h_2)$ depending on λ , h_1 and h_2 , such that, for all $k \in \mathbb{N}$,

$$\Psi_k^{(\lambda)}(t,x) \le \left[C(\lambda, h_1, h_2) \right]^k k! \frac{t^{\frac{2(\lambda h_1 + h_2 - 1)k}{\lambda}}}{\left[\Gamma(k(1 - \frac{p(1 - h_2)}{\lambda}) + 1) \right]^{\frac{2}{p}}}, \quad (t,x) \in [0, T] \times \mathbb{R},$$

where $\Gamma(x) = \int_0^\infty e^{-t} t^{x-1} dt$ is the Gamma function.

Proof This proof is similar to that of [2, Lemma 3.2], in which we only use $\frac{1}{\lambda}(h_2 - 1)$ instead of $\frac{h_2-1}{4}$. So the details are omitted.

Lemma 3.3 Let $h_1, h_2 \in (\frac{1}{2}, 1)$, $\lambda(2h_1 - 1) + h_2 > 1$ and $p \in (\frac{1}{2h_1 - 1}, \frac{\lambda}{1 - h_2})$. Then for each $n \in \mathbb{N}$, $u_n(t, x)$ in Definition 2.2 is an element on S_ρ with $\rho < \frac{(2-p)\lambda - 2(1-h_2)p}{p\lambda}$.

Proof We will briefly prove this lemma. For more details, please refer to [2]. Using Stirling's formula

$$\Gamma(x+1) = K(x)x^x e^{-x}, \quad x > -1,$$

where the function K(x) satisfies $\theta^{-x} \leq K(x) \leq \theta^x$ for some constant $\theta > 0$, we can obtain the following estimates. Let $\beta_{\lambda} := 1 - \frac{p(1-h_2)}{\lambda} \in (0,1)$. Then we have

$$\frac{[k!]^{\rho+1}}{[\Gamma(k\beta_{\lambda}+1)]^{\frac{2}{p}}} \leq (\theta^{\frac{4\beta_{\lambda}}{p}})^{k} \left[\frac{(\frac{2\beta_{\lambda}}{p}-(\rho+1))^{\frac{2\beta_{\lambda}}{p}-(\rho+1)}}{\beta_{\lambda}^{\frac{2\beta}{p}}}\right]^{k} \frac{1}{\Gamma(k(\frac{2\beta_{\lambda}}{p}-(\rho+1))+1)}$$

and

$$||u_{n}(t,x)||_{\rho}^{2} = \sum_{k=0}^{n} [k!]^{\rho} \Psi_{k}^{(\lambda)}(t,x)$$

$$\leq \sum_{k=0}^{\infty} [C(\lambda, h_{1}, h_{2})]^{k} \left(\theta^{\frac{4\beta_{\lambda}}{p}}\right)^{k} \left[\frac{\left(\frac{2\beta_{\lambda}}{p} - (\rho + 1)\right)^{\frac{2\beta_{\lambda}}{p} - (\rho + 1)}}{\beta_{\lambda}^{\frac{2\beta_{\lambda}}{p}}}\right]^{k} \frac{t^{\frac{2(\lambda h_{1} + h_{2} - 1)k}{\lambda}}}{\Gamma(k(\frac{2\beta_{\lambda}}{p} - (\rho + 1)) + 1)}$$

$$\leq E_{\frac{2\beta_{\lambda}}{p} - (\rho + 1)}(\widetilde{C}(\lambda, h_{1}, h_{2})t^{\frac{2(\lambda h_{1} + h_{2} - 1)}{\lambda}}),$$

where

$$\widetilde{C}(\lambda, h_1, h_2) := C(\lambda, h_1, h_2) \theta^{\frac{4\beta_{\lambda}}{p}} \frac{\left(\frac{2\beta_{\lambda}}{p} - (\rho + 1)\right)^{\frac{2\beta_{\lambda}}{p} - (\rho + 1)}}{\beta_{\lambda}^{\frac{2\beta_{\lambda}}{p}}} > 0$$

and $E_r(z)$ is the Mittag-Leffer function with parameter r > 0. Note $\frac{2\beta_{\lambda}}{p} - \rho - 1 > 0$. Then by the asymptotic property of the Mittag-Leffer function (see, e.g., [24]), we obtain

$$||u_n(t,x)||_{\rho}^2 \le \frac{\text{const.}}{\frac{2\beta_{\lambda}}{n} - (\rho + 1)} \exp(\widetilde{C}(\lambda, h_1, h_2) t^{\frac{2(\lambda h_1 + h_2 - 1)}{\lambda} (\frac{2\beta_{\lambda}}{p} - (\rho + 1))^{-1}}) < +\infty, \tag{3.5}$$

if $\rho < \frac{(2-p)\lambda - 2(1-h_2)p}{p\lambda}$. Thus the proof of the lemma is completed.

Now we are ready to prove Theorem 3.1.

Proof of Theorem 3.1 It suffices to check that under the assumptions of Theorem 3.1, $\{u_n(t,x):(t,x)\in[0,T]\times D\}_{n\in\mathbb{N}}$ in Definition 2.2 is a Cauchy sequence on S_ρ for $\rho<\frac{(2-p)\lambda-2(1-h_2)p}{p\lambda}$. Through the lemmas above, it follows that

$$\limsup_{n \to \infty} \|u_n(t, x)\|_{\rho}^2 = \sum_{k=0}^{\infty} [k!]^{\rho} \Psi_k^{(\lambda)}(t, x)$$

$$\leq \frac{\text{const.}}{\frac{2\beta_{\lambda}}{p} - (\rho + 1)} \exp(\widetilde{C}(\lambda, h_1, h_2) t^{\frac{2(\lambda h_1 + h_2 - 1)}{\lambda}} (\frac{2\beta_{\lambda}}{p} - (\rho + 1))^{-1})$$

$$< \infty,$$

where $\beta_{\lambda} = 1 - \frac{p(1-h_2)}{\lambda}$. Hence for $m, n \in \mathbb{N}$,

$$||u_m(t,x) - u_n(t,x)||_{\rho}^2 = \sum_{k=m+1}^n [k!]^{\rho} \Psi_k^{(\lambda)}(t,x) \to 0, \text{ as } n,m \to \infty.$$

Since S_{ρ} is a Hilbert space under the norm $\|\cdot\|_{\rho}$, there exists a unique stochastic field $\{u(t,x):(t,x)\in[0,T]\times D\}$ on S_{ρ} such that

$$u(t,x) = \lim_{n \to \infty} u_n(t,x)$$
, in S_ρ sense,

which is the unique solution of (1.1). Moreover, from (3.8) in Lemma 3.3, we immediately get the Lyapunov exponent estimate. This completes the proof of Theorem 3.1.

4 Hölder Continuity of the Solution

In this section, we will check the Hölder continuity of the solution $\{u(t,x):(t,x)\in[0,T]\times\mathbb{R}\}$ of (1.1) on both space and time variables.

Theorem 4.1 Assume

$$h_1, h_2 \in (\frac{1}{2}, 1)$$
 and $(4h_1 - 3)\lambda + 2h_2 > 2$.

If $u_0 \in L^{\infty}(\mathbb{R})$ is an α -Hölder continuous function with $\alpha \in (0,1)$, then the solution $\{u(t,x): (t,x) \in [0,T] \times \mathbb{R}\}$ is μ -Hölder continuous in t and ν -Hölder continuous in x, where $\mu \in (0,\min\{\frac{\alpha}{\lambda},\frac{\lambda h_1+h_2-1}{\lambda+1}\})$ and $\nu \in (0,\min\{\alpha,\lambda h_1+h_2-1\})$.

Proof Recall Definition 2.2,

$$\begin{cases} u_0(t,x) = G_{\lambda}(t) * u_0(x), \\ u_n(t,x) = \sum_{k=0}^n I_k(\tilde{f}_k^{(\lambda)}(t,x)), & n = 1, 2, \dots \end{cases}$$
(4.1)

It follows from the proof of Lemma 3.3 that if $p \in (\frac{1}{2h_1-1}, \frac{2\lambda}{\lambda+2(1-h_2)})$, then $u_n \in S_\rho$ with $\rho < \frac{(2-p)\lambda-2(1-h_2)p}{p\lambda}$ for all $n=1,2,\cdots$. In particular, $u_n \in S_0 = L^2(\Omega)$ since $\frac{(2-p)\lambda-2(1-h_2)p}{p\lambda} > 0$. On the other hand, from (4.1), it follows that for each $n \in \mathbb{N}$,

$$u_n(t,x) = I_0(\widetilde{f}_0^{(\lambda)}(t,x)) + \sum_{k=1}^n I_k(\widetilde{f}_k^{(\lambda)}(t,x))$$

= $G_{\lambda}(t) * u_0(x) + \int_0^t \int_D G_{\lambda}(t-s,x-z)u_{n-1}(s,z)B^H(\mathrm{d}s,\mathrm{d}z).$

Then for $s, t \in [0, T]$ and $x, y \in \mathbb{R}$, we have

$$u_{n}(t,x) - u_{n}(s,y) = G_{\lambda}(t) * u_{0}(x) - G_{\lambda}(s) * u_{0}(y)$$

$$+ \int_{s}^{t} \int_{\mathbb{R}} G_{\lambda}(t-r,x-z)u_{n-1}(r,z)B^{H}(dr,dz)$$

$$+ \int_{0}^{s} \int_{\mathbb{R}} (G_{\lambda}(t-r,x-z) - G_{\lambda}(s-r,y-z))u_{n-1}(r,z)B^{H}(dr,dz)$$

$$:= A_{1} + A_{2} + A_{3}. \tag{4.2}$$

But by Azerad and Mellouk [1], we know

$$\mathbf{E}|A_1|^2 \le C(T)(|x-y|^{2\alpha} + |t-s|^{\frac{2\alpha}{\lambda}}). \tag{4.3}$$

Applying Lemma 2.2 and (3.5) with $\rho = 0$, we get

$$\begin{split} \mathbf{E}|A_{2}|^{2} &= \int_{[s,t]^{2}} \int_{\mathbb{R}^{2}} \varphi_{h_{1}}(r-\overline{r})\varphi_{h_{2}}(z-\overline{z})|G_{\lambda}(t-r,x-z)| \\ &\times |G_{\lambda}(t-\overline{r},x-\overline{z})|\mathbf{E}(|u_{n-1}(r,z)u_{n-1}(\overline{r},\overline{z})|)\mathrm{d}z\mathrm{d}\overline{z}\mathrm{d}r\mathrm{d}\overline{r} \\ &= \int_{[s,t]^{2}} \int_{\mathbb{R}^{2}} \varphi_{h_{1}}(r-\overline{r})\varphi_{h_{2}}(z-\overline{z})|G_{\lambda}(t-r,x-z)| \\ &\times |G_{\lambda}(t-\overline{r},x-\overline{z})|\|u_{n-1}(r,z)\|_{0}\|u_{n-1}(\overline{r},\overline{z})\|_{0}\mathrm{d}z\mathrm{d}\overline{z}\mathrm{d}r\mathrm{d}\overline{r} \\ &\leq C(T)\int_{[s,t]^{2}} \int_{\mathbb{R}^{2}} \varphi_{h_{1}}(r-\overline{r})\varphi_{h_{2}}(z-\overline{z})|G_{\lambda}(t-r,x-z)||G_{\lambda}(t-\overline{r},x-\overline{z})|\mathrm{d}z\mathrm{d}\overline{z}\mathrm{d}r\mathrm{d}\overline{r} \\ &= C(T)\int_{[s,t]^{2}} \varphi_{h_{1}}(r-\overline{r})\mathrm{d}r\mathrm{d}\overline{r}\int_{\mathbb{R}^{2}} \varphi_{h_{2}}(z-\overline{z})|G_{\lambda}(t-r,x-z)||G_{\lambda}(t-\overline{r},x-\overline{z})|\mathrm{d}z\mathrm{d}\overline{z}\mathrm{d}r\mathrm{d}\overline{r} \\ &\leq C(T,h_{2})\int_{[s,t]^{2}} \varphi_{h_{1}}(r-\overline{r})\|G_{\lambda}(t-r,x-z)\|_{L^{\frac{1}{h_{2}}}(\mathbb{R})}\|G_{\lambda}(t-\overline{r},x-z)\|_{L^{\frac{1}{h_{2}}}(\mathbb{R})}\mathrm{d}r\mathrm{d}\overline{r} \\ &\leq C(T,h_{1},h_{2})\Big[\int_{s}^{t} \Big(\int_{\mathbb{R}} |G_{\lambda}(t-r,x-z)|^{\frac{1}{h_{2}}}\mathrm{d}z\Big)^{\frac{h_{2}}{h_{1}}}\mathrm{d}r\Big]^{2h_{1}}. \end{split}$$

By Lemma 2.1, we have

$$\int_{\mathbb{R}} |G_{\lambda}(t-r,x-z)|^{\frac{1}{h_{2}}} dz = (t-r)^{-\frac{1}{\lambda h_{2}}} \int_{\mathbb{R}} |G_{\lambda}(1,(t-r)^{-\frac{1}{\lambda}}(x-z))|^{\frac{1}{h_{2}}} dz
= (t-r)^{\frac{1}{\lambda}(1-\frac{1}{h_{2}})} \int_{\mathbb{R}} |G_{\lambda}(1,z)|^{\frac{1}{h_{2}}} dz
\leq (t-r)^{\frac{1}{\lambda}(1-\frac{1}{h_{2}})} \int_{\mathbb{R}} \left(\frac{C}{1+|z|^{2}}\right)^{\frac{1}{h_{2}}} dz
= C(h_{2})(t-r)^{\frac{1}{\lambda}(1-\frac{1}{h_{2}})}.$$

Therefore, we obtain

$$\mathbf{E}|A_2|^2 \le C(T, h_1, h_2)|t - s|^{2h_1(\frac{1}{\lambda}(1 - \frac{1}{h_2})\frac{h_2}{h_1} + 1)} = C(T, h_1, h_2)|t - s|^{2(h_1 + \frac{1}{\lambda}(h_2 - 1))}. \tag{4.4}$$

Note

$$\mathbf{E}|A_{3}|^{2} \leq 2\left[\mathbf{E}\left|\int_{0}^{s}\int_{D}(G_{\lambda}(t-r,x-z)-G_{\lambda}(t-r,y-z))u_{n-1}(r,z)B^{H}(\mathrm{d}r,\mathrm{d}z)\right|^{2}\right] + \mathbf{E}\left|\int_{0}^{s}\int_{D}(G_{\lambda}(t-r,y-z)-G_{\lambda}(s-r,y-z))u_{n-1}(r,z)B^{H}(\mathrm{d}r,\mathrm{d}z)\right|^{2}\right] := 2(\mathbf{I}+\mathbf{II}).$$

$$(4.5)$$

Let $\gamma \in (0, \min\{\lambda h_1 + h_2 - 1, 1\})$. Then

$$\begin{split} &\mathbf{I} \leq \int_{[0,s]^2} \int_{D^2} \varphi_{h_1}(r-\overline{r}) \varphi_{h_2}(z-\overline{z}) |G_{\lambda}(t-r,x-z) - G_{\lambda}(t-r,y-z)| \\ & \quad \times |G_{\lambda}(t-\overline{r},x-\overline{z}) - G_{\lambda}(t-\overline{r},y-\overline{z})| \mathbf{E}(|u_{n-1}(r,z)u_{n-1}(\overline{r},\overline{z})|) \mathrm{d}z \mathrm{d}\overline{z} \mathrm{d}r \mathrm{d}\overline{r} \\ & \leq C(T) \int_{[0,s]^2} \int_{D^2} \varphi_{h_1}(r-\overline{r}) \varphi_{h_2}(z-\overline{z}) |G_{\lambda}(t-r,x-z) - G_{\lambda}(t-r,y-z)| \\ & \quad \times |G_{\lambda}(t-\overline{r},x-\overline{z}) - G_{\lambda}(t-\overline{r},y-\overline{z})| \mathrm{d}z \mathrm{d}\overline{z} \mathrm{d}r \mathrm{d}\overline{r} \\ & \leq C(T) ||G_{\lambda}(t-\cdot,x-\cdot) - G_{\lambda}(t-\cdot,y-\cdot)|^2_{\mathcal{H}_1} \\ & = C(T) |||G_{\lambda}(t-\cdot,x-\cdot) - G_{\lambda}(t-\cdot,y-\cdot)|^{\gamma} |G_{\lambda}(t-\cdot,x-\cdot) - G_{\lambda}(t-\cdot,y-\cdot)|^{1-\gamma} ||^2_{\mathcal{H}_1} \\ & \leq C(T,\gamma) (|||G_{\lambda}(t-\cdot,x-\cdot) - G_{\lambda}(t-\cdot,y-\cdot)|^{\gamma} |G_{\lambda}(t-\cdot,x-\cdot)|^{1-\gamma} ||^2_{\mathcal{H}_1} \\ & \quad + |||G_{\lambda}(t-\cdot,x-\cdot) - G_{\lambda}(t-\cdot,y-\cdot)|^{\gamma} |G_{\lambda}(t-\cdot,y-\cdot)|^{1-\gamma} ||^2_{\mathcal{H}_1}) \\ & := C(T,\gamma) (\mathbf{I}_1 + \mathbf{I}_2). \end{split}$$

Using Lemma 2.1 and the mean-value theorem, we get

$$I_{1} \leq \left\| \left| \frac{\partial G_{\lambda}(t-\cdot,\xi-\cdot)}{\partial x} \right|^{\gamma} |x-y|^{\gamma} |G_{\lambda}(t-\cdot,x-\cdot)|^{1-\gamma} \right\|_{\mathcal{H}_{1}}^{2}$$

$$= |x-y|^{2\gamma} \int_{[0,T]^{2}} \int_{\mathbb{R}^{2}} \left| \frac{\partial G_{\lambda}(t-r,\xi-z)}{\partial x} \right|^{\gamma} |G_{\lambda}(t-r,x-z)|^{1-\gamma}$$

$$\times \varphi_{h_{1}}(r-\overline{r}) \varphi_{h_{2}}(z-\overline{z}) \left| \frac{\partial G_{\lambda}(t-\overline{r},\xi-\overline{z})}{\partial x} \right|^{\gamma} |G_{\lambda}(t-\overline{r},x-\overline{z})|^{1-\gamma} dz d\overline{z} dr d\overline{r}$$

$$\leq C(h_{1},h_{2})|x-y|^{2\gamma}$$

$$\times \left(\int_{0}^{T} \left(\int_{\mathbb{R}} \left(\left| \frac{\partial G_{\lambda}(t-r,\xi-z)}{\partial x} \right|^{\gamma} |G_{\lambda}(t-r,x-z)|^{1-\gamma} \right)^{\frac{1}{h_{2}}} dz \right)^{\frac{h_{2}}{h_{1}}} dr \right)^{2h_{1}}$$

$$(4.6)$$

and

$$\begin{split} &\int_{\mathbb{R}} \left(\left| \frac{\partial G_{\lambda}(t-r,\xi-z)}{\partial x} \right|^{\gamma} |G_{\lambda}(t-r,x-z)|^{1-\gamma} \right)^{\frac{1}{h_{2}}} \mathrm{d}z \\ &= \int_{\mathbb{R}} \left((t-r)^{-\frac{2\gamma}{\lambda}} \left| \frac{\partial G_{\lambda}(1,(t-r)^{-\frac{1}{\lambda}}(\xi-z))}{\partial x} \right|^{\gamma} (t-r)^{-\frac{1-\gamma}{\lambda}} |G_{\lambda}(1,(t-r)^{-\frac{1}{\lambda}}(x-z))|^{1-\gamma} \right)^{\frac{1}{h_{2}}} \mathrm{d}z \\ &= (t-r)^{\frac{1}{\lambda} - \frac{1+\gamma}{\lambda h_{2}}} \int_{\mathbb{R}} \left(\left| \frac{\partial G_{\lambda}(1,(\widetilde{\xi}-z))}{\partial x} \right|^{\gamma} |G_{\lambda}(1,z)|^{1-\gamma} \right)^{\frac{1}{h_{2}}} \mathrm{d}z \\ &\leq C(h_{2},\gamma)(t-r)^{\frac{1}{\lambda} - \frac{1+\gamma}{\lambda h_{2}}}. \end{split}$$

Therefore, if

$$\left(\frac{1}{\lambda} - \frac{1+\gamma}{\lambda h_2}\right) \frac{h_2}{h_1} + 1 > 0$$

(that is, $\gamma < \lambda h_1 + h_2 - 1$), then

$$I_1 \le C(T, \gamma, h_1, h_2)|x - y|^{2\gamma} \left(\int_0^T (t - r)^{(\frac{1}{\lambda} - \frac{1+\gamma}{\lambda h_2})\frac{h_2}{h_1}} dr \right)^{2h_1} \le C(T, \gamma, \lambda, h_1, h_2)|x - y|^{2\gamma}.$$

Similarly,

$$I_2 \le C(T, \gamma, \lambda, h_1, h_2)|x - y|^{2\gamma}.$$
 (4.7)

From the estimates (4.6) and (4.7), it follows that

$$I \le C(T, \gamma, \lambda, h_1, h_2)|x - y|^{2\gamma}. \tag{4.8}$$

On the other hand, we estimate the part "II". From Lemma 2.1, we know

$$G_{\lambda}(t,x) = t^{-\frac{1}{\lambda}}G_{\lambda}(1,t^{-\frac{1}{\lambda}}x).$$

So

$$\frac{\partial G_{\lambda}(t,x)}{\partial t} = -\frac{1}{\lambda} t^{-1-\frac{2}{\lambda}} \left(t^{\frac{1}{\lambda}} G_{\lambda}(1, t^{-\frac{1}{\lambda}} x) + x \frac{\partial G_{\lambda}(1, t^{-\frac{1}{\lambda}} x)}{\partial x} \right). \tag{4.9}$$

Recall (4.5). An analogue argument as that in (4.8), together with (4.9), shows that for $\eta \in (0, \frac{\lambda h_1 + h_2 - 1}{\lambda + 1})$,

$$II \le C(T, \eta, \lambda, h_1, h_2)|t - s|^{2\eta}. \tag{4.10}$$

Apply Fatou's lemma to (4.2). (4.3), (4.4), (4.8) and (4.10) jointly imply the desired result. This proves Theorem 4.1.

5 Absolute Continuity of the Law of the Solution

In this section, we shall prove the absolute continuity of the law of the solution $\{u(t,x):(t,x)\in[0,T]\times\mathbb{R}\}$ given in Section 3. We need the following proposition.

Proposition 5.1 Assume

$$h_1, h_2 \in \left(\frac{1}{2}, 1\right)$$
 and $(4h_1 - 3)\lambda + 2h_2 > 2$.

For $(t,x) \in [0,T] \times \mathbb{R}$, the solution $u(t,x) \in \mathcal{D}^{1,2}$, and

$$D_{s,y}u(t,x) = \int_s^t \int_{\mathbb{R}} G_{\lambda}(t-r,x-z)D_{s,y}u(r,z)B^H(dr,dz) + G_{\lambda}(t-s,x-y)u(s,y)$$
 (5.1)

for all $s \leq t$ and $y \in \mathbb{R}$.

Proof Let $\{u_n(t,x): n \geq 1\}$ be defined as in (4.1). Then a similar argument as that in [29] shows that for each $n \in \mathbb{N}$ and $h \in \mathcal{H}_1$, $u_n(t,x) \in \mathcal{D}_h$ and satisfies

$$D_h u_n(t,x) = \int_0^t \int_{\mathbb{R}} G_{\lambda}(t-s,x-y) D_h u_{n-1}(s,y) B^H(\mathrm{d}s,\mathrm{d}y) + \langle G_{\lambda}(t-\cdot,x-\cdot) u_{n-1}(\cdot,\cdot),h \rangle_{\mathcal{H}_1}.$$

Since $u_n(t,x) \to u(t,x)$ as $n \to \infty$ in $L^2(\Omega)$ sense, there exists a random field $u_{(h)}(t,x)$ such that $D_h u_n(t,x) \to u_{(h)}(t,x)$ as $n \to \infty$ uniformly on $(t,x) \in [0,T] \times \mathbb{R}$ (the proof is similar to that of Theorem 3.1) and the latter satisfies

$$u_{(h)}(t,x) = \int_0^t \int_{\mathbb{R}} G_{\lambda}(t-s,x-y)u_{(h)}(s,y)B^H(\mathrm{d}s,\mathrm{d}y) + \langle G_{\lambda}(t-\cdot,x-\cdot)u(\cdot,\cdot),h\rangle_{\mathcal{H}_1}.$$

Hence, from the closeness of the operator D_h , it follows that $u(t,x) \in \mathcal{D}_h$, $D_h u(t,x) = u_{(h)}(t,x)$ and

$$D_h u(t,x) = \int_0^t \int_{\mathbb{R}} G_{\lambda}(t-s,x-y) D_h u(s,y) B^H(\mathrm{d}s,\mathrm{d}y) + \langle G_{\lambda}(t-\cdot,x-\cdot) u(\cdot,\cdot), h \rangle_{\mathcal{H}_1}.$$
 (5.2)

Next, we proceed to prove $u(t,x) \in \mathcal{D}^{1,2}$. Recall $\{h_n : n \geq 1\}$ in Section 2. By (4.2),

$$\mathbf{E}|\mathbf{D}_{h_{n}}u(t,x)|^{2} = \mathbf{E}\left|\int_{0}^{t}\int_{\mathbb{R}}G_{\lambda}(t-s,x-y)\mathbf{D}_{h_{n}}u(s,y)B^{H}(\mathrm{d}s,\mathrm{d}y)\right| + \langle G_{\lambda}(t-\cdot,x-\cdot)u(\cdot,\cdot),h_{n}\rangle_{\mathcal{H}_{1}}\right|^{2}$$

$$\leq C\left(\mathbf{E}\left[\int_{0}^{t}\int_{\mathbb{R}}G_{\lambda}(t-s,x-y)\mathbf{D}_{h_{n}}u(s,y)B^{H}(\mathrm{d}s,\mathrm{d}y)\right]^{2} + \langle G_{\lambda}(t-\cdot,x-\cdot)u(\cdot,\cdot),h_{n}\rangle_{\mathcal{H}_{1}}^{2}\right)$$

$$:= C(\mathbf{I}_{1} + \mathbf{I}_{2}). \tag{5.3}$$

Note that $(4h_1 - 3)\lambda + 2h_2 > 2$ implies $\lambda(2h_1 - 1) + h_2 > 1$. Then

$$\begin{split} &\mathbf{I}_{1} = \int_{[0,t]^{2}} \int_{\mathbb{R}^{2}} \varphi_{h_{1}}(r-\overline{r})\varphi_{h_{2}}(z-\overline{z})|G_{\lambda}(t-r,x-z)| \\ &\times |G_{\lambda}(t-\overline{r},x-\overline{z})|\mathbf{E}(|\mathbf{D}_{h_{n}}u(r,z)\mathbf{D}_{h_{n}}u(\overline{r},\overline{z})|)\mathrm{d}z\mathrm{d}\overline{z}\mathrm{d}r\mathrm{d}\overline{r} \\ &\leq C \int_{[0,t]^{2}} \int_{\mathbb{R}^{2}} \varphi_{h_{1}}(r-\overline{r})\varphi_{h_{2}}(z-\overline{z})|G_{\lambda}(t-r,x-z)| \\ &\times |G_{\lambda}(t-\overline{r},x-\overline{z})|\mathbf{E}(|\mathbf{D}_{h_{n}}u(r,z)|^{2})\mathrm{d}z\mathrm{d}\overline{z}\mathrm{d}r\mathrm{d}\overline{r} \\ &\leq C \int_{[0,t]^{2}} \sup_{z\in\mathbb{R}} \mathbf{E}(|\mathbf{D}_{h_{n}}u(r,z)|^{2})\varphi_{h_{1}}(r-\overline{r}) \\ &\times \left(\int_{\mathbb{R}^{2}} \varphi_{h_{2}}(z-\overline{z})|G_{\lambda}(t-r,x-z)||G_{\lambda}(t-\overline{r},x-\overline{z})|\mathrm{d}z\mathrm{d}\overline{z}\right)\mathrm{d}r\mathrm{d}\overline{r} \\ &\leq C(h_{2}) \int_{[0,t]^{2}} \sup_{z\in\mathbb{R}} \mathbf{E}(|\mathbf{D}_{h_{n}}u(r,z)|^{2})\varphi_{h_{1}}(r-\overline{r}) \\ &\times \|G_{\lambda}(t-r,x-\cdot)\|_{L^{\frac{1}{h_{2}}}(\mathbb{R})} \|G_{\lambda}(t-\overline{r},x-\cdot)\|_{L^{\frac{1}{h_{2}}}(\mathbb{R})} \mathrm{d}r\mathrm{d}\overline{r} \\ &\leq C(h_{2}) \int_{[0,t]^{2}} \sup_{z\in\mathbb{R}} \mathbf{E}(|\mathbf{D}_{h_{n}}u(r,z)|^{2})\varphi_{h_{1}}(r-\overline{r})(t-r)^{\frac{h_{2}-1}{\lambda}}(t-\overline{r})^{\frac{h_{2}-1}{\lambda}}\mathrm{d}r\mathrm{d}\overline{r} \\ &\leq C(h_{2}) \int_{0}^{t} \sup_{z\in\mathbb{R}} \mathbf{E}(|\mathbf{D}_{h_{n}}u(r,z)|^{2})(t-r)^{\frac{h_{2}-1}{\lambda}} \left(\int_{0}^{r} (r-\overline{r})^{2h_{1}-2}(t-\overline{r})^{\frac{h_{2}-1}{\lambda}}\mathrm{d}\overline{r}\right)\mathrm{d}r \\ &\leq C(T,\lambda,h_{2}) \int_{0}^{t} \sup_{z\in\mathbb{R}} \mathbf{E}(|\mathbf{D}_{h_{n}}u(r,z)|^{2})(t-r)^{\frac{h_{2}-1}{\lambda}} \left(\int_{0}^{r} (r-\overline{r})^{2h_{1}-2+\frac{h_{2}-1}{\lambda}}\mathrm{d}\overline{r}\right)\mathrm{d}r \\ &\leq C(T,\lambda,h_{1},h_{2}) \int_{0}^{t} \sup_{z\in\mathbb{R}} \mathbf{E}(|\mathbf{D}_{h_{n}}u(r,z)|^{2})(t-r)^{\frac{h_{2}-1}{\lambda}}\mathrm{d}r. \end{cases} \tag{5.4}$$

On the other hand, similarly to (4.4), since $\lambda h_1 + h_2 > 1$, we have

$$||G_{\lambda}(t-\cdot,x-\cdot)u(\cdot,\cdot)||_{\mathcal{H}_{1}}^{2} \leq C(T,\lambda,h_{1},h_{2}). \tag{5.5}$$

Set

$$U_m(t) = \sup_{x \in \mathbb{R}} \mathbf{E} \sum_{n=1}^m |\mathcal{D}_{h_n} u(t, x)|^2.$$

By (5.4) and (5.5), we obtain

$$U_{m}(t) \leq C \int_{0}^{t} (t-s)^{\frac{h_{2}-1}{\lambda}} U_{m}(s) ds + C \|G_{\lambda}(t-\cdot,x-\cdot)u(\cdot,\cdot)\|_{\mathcal{H}_{1}}^{2}$$

$$\leq C + C \int_{0}^{t} (t-s)^{\frac{h_{2}-1}{\lambda}} U_{m}(s) ds.$$
(5.6)

Then Gronwall's lemma yields

$$U_m(t) \le C \exp\left(C \int_0^t (t-s)^{\frac{h_2-1}{\lambda}} \mathrm{d}s\right),$$

where $C := C(T, \lambda, h_1, h_2)$ is independent of m. Let $m \to \infty$. Then we get

$$\sup_{x\in D}\mathbf{E}\sum_{n=1}^{\infty}|\mathbf{D}_{h_n}u(t,x)|^2<\infty.$$

This means $u(t,x) \in \mathcal{D}^{1,2}$.

Since u(t,x) is \mathcal{F}_t -adapted, there exists a measurable function $D_{s,y}u(t,x) \in \mathcal{H}_1$ such that

$$D_{s,y}u(t,x)=0$$

for s > t, and for any $h \in \mathcal{H}_1$,

$$D_h u(t, x) = \langle Du(t, x), h \rangle_{\mathcal{H}_1}. \tag{5.7}$$

From (4.2), (4.5) and Fubini's theorem, it follows that

$$\langle \operatorname{D} u(t,x),h\rangle_{\mathcal{H}_{1}}$$

$$= \int_{0}^{t} \int_{\mathbb{R}} G_{\lambda}(t-r,x-z)\operatorname{D}_{h}u(r,z)B^{H}(\mathrm{d}r,\mathrm{d}z) + \langle G_{\lambda}(t-\cdot,x-\cdot)u(\cdot,\cdot),h\rangle_{\mathcal{H}_{1}}$$

$$= \int_{0}^{t} \int_{\mathbb{R}} G_{\lambda}(t-r,x-z)\langle \operatorname{D} u(r,z),h\rangle_{\mathcal{H}_{1}}B^{H}(\mathrm{d}r,\mathrm{d}z) + \langle G_{\lambda}(t-\cdot,x-\cdot)u(\cdot,\cdot),h\rangle_{\mathcal{H}_{1}}$$

$$= \int_{0}^{t} \int_{\mathbb{R}} G_{\lambda}(t-r,x-z)B^{H}(\mathrm{d}r,\mathrm{d}z) \int_{0}^{r} \int_{\mathbb{R}} \int_{\mathbb{R}} \operatorname{D}_{s,y}u(r,z)h(\overline{s},\overline{y})$$

$$\times \varphi_{h_{1}}(s-\overline{s})\varphi_{h_{2}}(y-\overline{y})\mathrm{d}y\mathrm{d}\overline{y}\mathrm{d}s\mathrm{d}\overline{s} + \langle G_{\lambda}(t-\cdot,x-\cdot)u(\cdot,\cdot),h\rangle_{\mathcal{H}_{1}}$$

$$= \int_{0}^{t} \int_{0}^{t} \int_{\mathbb{R}} \int_{\mathbb{R}} h(\overline{s},\overline{y})\varphi_{h_{1}}(s-\overline{s})\varphi_{h_{2}}(y-\overline{y})\mathrm{d}y\mathrm{d}\overline{y}\mathrm{d}s\mathrm{d}\overline{s}$$

$$\times \int_{s}^{t} \int_{\mathbb{R}} G_{\lambda}(t-r,x-z)\operatorname{D}_{s,y}u(r,z)B^{H}(\mathrm{d}r,\mathrm{d}z) + \langle G_{\lambda}(t-\cdot,x-\cdot)u(\cdot,\cdot),h\rangle_{\mathcal{H}_{1}}.$$

Therefore

$$D_{s,y}u(t,x) = \int_s^t \int_{\mathbb{R}} G_{\lambda}(t-r,x-z)D_{s,y}u(r,z)B^H(\mathrm{d}r,\mathrm{d}z) + G_{\lambda}(t-s,x-y)u(s,y).$$

Thus the proof of the proposition is completed.

Now we state the main theorem in this section.

Theorem 5.1 Assume

$$h_1, h_2 \in \left(\frac{1}{2}, 1\right)$$
 and $(4h_1 - 3)\lambda + 2h_2 > 2$.

If

$$u_0(x) \ge \varepsilon_0 > 0 \quad \text{for } x \in \mathbb{R},$$

then for $t \leq T$ and $x \in \mathbb{R}$, the law of the solution u(t,x) of (1.1) is absolutely continuous with respect to Lebesque measure.

Proof By Proposition 2.3, it suffices to check that

$$||Du(t,x)||_{\mathcal{H}_1} > 0$$
, a.s.

Note

$$\|Du(t,x)\|_{\mathcal{H}_1} > 0 \iff \|Du(t,x)\|_{L^2([0,t]\times\mathbb{R})} > 0.$$

Hence we only need to prove

$$\|Du(t,x)\|_{L^2([0,t]\times\mathbb{R})} > 0$$
, a.s.

Recalling the proof of Theorem 4.1, we can formally express u(t,x) as follows:

$$u(t,x) = G_{\lambda}(t) * u_0(x) + \int_0^t \int_{\mathbb{R}} G_{\lambda}(t-r,x-z)u(r,z)B^H(\mathrm{d}r,\mathrm{d}z).$$

On the other hand, it is easy to check that

$$G_{\lambda}(t-r,x-z)u(r,z)$$
 and $G_{\lambda}(t-r,x-z)D_{s,y}u(r,z)$

belong to \mathcal{H}_1 . Then from Propositions 2.1 and 5.1, we have

$$\mathbf{E}(\mathbf{D}_{s,y}u(t,x))^{2} = \mathbf{E}\left[\int_{s}^{t} \int_{\mathbb{R}} G_{\lambda}(t-r,x-z)\mathbf{D}_{s,y}u(r,z)B^{H}(\mathrm{d}r,\mathrm{d}z) + G_{\lambda}(t-s,x-y)u(s,y)\right]^{2}$$

$$= \mathbf{E}\left[\int_{s}^{t} \int_{\mathbb{R}} G_{\lambda}(t-r,x-z)\mathbf{D}_{s,y}u(r,z)B^{H}(\mathrm{d}r,\mathrm{d}z)\right]^{2}$$

$$+ G_{\lambda}^{2}(t-s,x-y)\mathbf{E}[u(s,y)]^{2}$$

$$\geq G_{\lambda}^{2}(t-s,x-y)\mathbf{E}[u(s,y)]^{2}$$

$$\geq G_{\lambda}^{2}(t-s,x-y)\mathbf{E}[G_{\lambda}(t)*u_{0}(x)]^{2}$$

$$= G_{\lambda}^{2}(t-s,x-y)\mathbf{E}\left[\int_{\mathbb{R}} G_{\lambda}(t,x-y)u_{0}(y)\mathrm{d}y\right]^{2}$$

$$\geq \varepsilon_{0}G_{\lambda}^{2}(t-s,x-y).$$

Since $G_{\lambda}(t,x) > 0$, we have

$$\mathbf{E}\Big[\int_{0}^{t} \int_{\mathbb{R}} (\mathbf{D}_{s,y} u(t,x))^{2} dy ds\Big] \ge \int_{0}^{t} \int_{\mathbb{R}} G_{\lambda}^{2} (t-s,x-y) \mathbf{E}[u(s,y)]^{2} dy ds$$

$$\ge \varepsilon_{0} \int_{0}^{t} \int_{\mathbb{R}} G_{\lambda}^{2} (t-s,x-y) dy ds$$

$$> 0, \tag{5.8}$$

which implies

$$\int_0^t \int_{\mathbb{R}} (\mathbf{D}_{s,y} u(t,x))^2 dy ds > 0, \quad \text{a.s.}$$
 (5.9)

Then by Proposition 2.3, the proof of the theorem is completed.

Acknowledgement The authors would like to thank those members in Nankai Seminar on SPDEs for their comments and suggestions.

References

- Azerad, P. and Mellouk, M., On a stochastic partial differential equation with non-local diffusion, *Potential Anal.*, 27(2), 2007 183–197.
- [2] Bo, L. J., Jiang, Y. M. and Wang, Y. J., On a class of stochastic Anderson models with fractional noises, Stoch. Anal. Appl., 26(2), 2008, 256–273.
- [3] Bo, L. J., Shi, K. H. and Wang, Y. J., On a nonlocal stochastic Kuramoto-Sivashinsky equation with jumps, Stoch. Dyn., 7(4), 2007, 439–457.
- [4] Bo, L. J., Jiang, Y. M. and Wang, Y. J., Stochastic Cahn-Hilliard equation with fractional noise, Stoch. Dyn., 8(4), 2008, 643–665.
- [5] Bo, L. J. and Wang, Y. J., Stochatic Cahn-Hilliard partial differential equations with Lévy spacetime noises, Stoch. Dyn., 6(2), 2006, 229-244.
- [6] Cardon-Weber, C., Cahn-Hilliard stochastic equation: existence of the solution and of its density, Bernoulli, 7(5), 2001, 777–816.
- [7] Dasgupta, A. and Kallianpur, G., Chaos decomposition of multiple fractional integrals and applications, Prob. Theory Relat. Fields, 115(4), 1999, 527-548.
- [8] Debbi, L. and Dozzi, M., On the solutions of nonlinear stochastic fractional partial differential equations in one spatial dimension, Stoch. Proc. Appl., 115(11), 2005, 1764–1781.
- [9] Eidelman, S. D. and Zhitarashu, N. V., Parabolic Boundary Value Problems, Birkhäuser, Basel, 1998.
- [10] Hu, Y. Z., Heat equations with fractional white noise potentials, Appl. Math. Optim., 43(3), 2001, 221–243.
- [11] Hu, Y. Z., Chaos expansion of heat equations with white noise potentials, Potential Anal., 16(1), 2002, 45–66.
- [12] Jiang, Y. M., Shi, K. H. and Wang, Y. J., On a class of stochastic fractional partial differential equations with fractional noises, preprint, 2008.
- [13] Le Mehaute, A., Machado, T., Trigeassou, J. C. and Sabatier, J., Fractional Differentiation and Its Applications, Proceedings of the First IFAC Workshop, Vol. 2004-1, International Federation of Automatic Control, ENSEIRB, Bordeaux, France, 2004.
- [14] Mann, J. A. and Woyczynski, W. A., Growing fractal interfaces in the presence of self-similar hopping surface diffusion, Phys. A, 291(1-4), 2001, 159–183.
- [15] Mémin, J., Mishura, Y. and Valkeila, E., Inequalities for moments of Wiener integrals with respect to a fractional Brownian motion, Stat. Prob. Lett., 51(2), 2001, 197–206.
- [16] Metzler, R. and Klafter, J., The random walk's guide to anomalous diffusion: a fraction dynamics approach, Phys. Rep., 339, 2000, 1–77.
- [17] Mueller, C., Long-time existence for the heat equation with a noise term, *Prob. Theory Relat. Fields*, 90(4), 1991, 505–517.
- [18] Mueller, C. and Tribe, R., A measure-valued process related to the parabolic Anderson model, Prog. Prob., 52, 2002, 219–227.
- [19] Nualart, D. and Ouknine, Y., Regularization of quasilinear heat equations by a fractional noise, Stoch. Dyn., 4(2), 2004, 201–221.
- [20] Nualart, D. and Rozovskii, B., Weighted stochastic Sobolev spaces and bilinear SPDEs driven by spacetime white noise, J. Funct. Anal., 149(1), 1997, 200–225.
- [21] Nualart, D. and Zakai, M., Generalized Brownian functionals and the solution to a stochastic partial differential equation, J. Funct. Anal., 84(2), 1989, 279–296.

- [22] Nualart, D., Stochastic calculus with respect to the fractional Brownian motion and applications, Cont. Math., 336, 2003, 3–39.
- [23] Nualart, D., The Malliavin Calculus and Related Topics, Springer-Verlag, Heidelberg, 2006.
- [24] Podlubny, I., Fractional Differential Equations, Academic Press, San Diego, 1999.
- [25] Uemura, H., Construction of the solution of 1-dimensional heat equation with white noise potential and its asymptotic behavior, *Stoch. Anal. Appl.*, **14**(4), 1996, 487–506.
- [26] Walsh, J., An introduction to stochastic partial differential equations, Ecole d'Eté de Probabilité de Saint Fleur XIV, Lecture Notes in Math., 1180, Springer-Verlag, Berlin, 1986, 265–439.
- [27] Zaslavsky, G. M., Fractional kinetic equations for Hamiltonian chaos, Phys. D, 76(1-3), 1994, 110-122.
- [28] Zaslavsky, G. M. and Abdullaev, S. S., Scaling properties and anomalous transport of particles inside the stochastic layer, Phys. Rev. E, 51(5), 1995, 3901–3910.
- [29] Zhang, T. and Zheng, W., SPDEs driven by space-time white noises in high dimensions: absolute continuity of the law and convergence of solutions, Stoch. Stoch. Rep., 75(3), 2003, 103–128.